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kbk'lt{ ;ldltsf]  

a("jf l;kmfl/; ;DaGwL ;'rgf 

 

kbk"lt{ ;ldltsf] ldlt 2074÷6÷27 df uf]/vfkqdf k|sflzt sfo{ 

Ifdtfsf] cfwf/df a('jf ;DaGwL ;"rgf cg';f/ a('jf ug{ ldlt 2074 

c;f/ d;fGt;Dd ;DalGwt ;]jf ;d'xsf] kbdf sd{rf/L k|zf;g 

ljlgodfjnL, 2064 -;+zf]wLt_ sf] ljlgdo 26 adf]lhd ;DaGwLt 

sd{rf/Lx?n] k|fKt u/]sf] clwstd k|fKtf°sf] cfwf/df tklzn adf]lhdsf 

kbx?df a('jfsf] nflu l;kmfl/; ug]{ ul/ kbk'lt{ ;ldltaf^ lg)f{o ePsf] 

x'+bf ;DalGwt ;a}sf] hfgsf/Lsf] nflu of] ;"rgf k|sflzt ul/Psf] % . 

;fy} ;f]lx ljlgodfjnLsf] ljlgod 27 sf] k|of]hgsf] nflu ;d]t of] 

;"rgf k|sflzt ul/Psf] % .  

tklzn 
 

lj=g+= 13÷074÷75, kbM k|zf;g clws[t     txM 7 

 k|zf;g ;]jf, k|zf;g ;d'x kb ;+Vof 1 
 

 

lj=g+= 14÷074÷75, kbM n]vf clws[t  txM 7  

 k|zf;g ;]jf, n]vf ;d'x kb ;+Vof 1 
 

 

lj=g+= 15÷074÷75, kbM ;xfos k|zf;g clws[t     txM 6 

 k|zf;g ;]jf, k|zf;g ;d'x      kb ;+Vof 1 

of]Uotfqmd pDd]baf/sf] gfd y/  k|FKtf° 

1= >L /fdeut a:g]t  88.00 
 

lj=g+= 20÷074÷75, kbM ;'k/efOh/             txM 5 

 k|fljlws ;]jf, l;len ;d'x      kb ;+Vof 8 

of]Uotfqmd pDd]baf/sf] gfd y/  k|FKtf° 

1= >L ;fg'efO{ ;fksf]^f  85.99 
 

lj=g+= 21÷074÷75, kbM;'k/efOh/   txM 5  

 k|fljlws ;]jf, O{=d]= ;d'x kb ;+Vof 6 

of]Uotfqmd pDd]baf/sf] gfd y/  k|FKtf° 

1= >L lai)f' v*\sf  

2= >L /fd ;'a]bL  

3= >L OZj/ s'df/ /]UdL 79.16 

 

 

of]Uotfqmd pDd]baf/sf] gfd y/  k|FKtf° 

1= >L dGh' dfgGw/  92.00 

of]Uotfqmd pDd]baf/sf] gfd y/  k|FKtf° 

1= >L >Lk|;fb bxfn  84.75 



  
 

 

 

lj=g+= 22÷074÷75, kbM al/i& k|zf;g ;xfos     txM 5 

 k|zf;g ;]jf, k|zf;g ;d'x      kb ;+Vof 2 

of]Uotfqmd pDd]baf/sf] gfd y/  k|FKtf° 

1= >L /fdnfn >]i&  

2= >L cf]d k|;fb (sfn 83.49 
 

lj=g+= 23÷074÷75, kbM al/i& n]vf ;xfos txM 5  

 k|zf;g ;]jf, n]vf ;d'x kb ;+Vof 5 
 

 

lj=g+= 26÷074÷75, kbM kDk ck/]^/     txM 4  

 k|flalws ;]jf, O{=d]= ;d'x kb ;+Vof 4 
 

 

lj=g+= 28÷074÷75, kbMNofa ^]lSgl;og    txM 4  

 k|flalws ;]jf, u')f:t/ ;d'x   kb ;+Vof 1 

of]Uotfqmd pDd]baf/sf] gfd y/  k|FKtf° 

1= >L ;Gtf]if sfkm\n] 81.49 

lj=g+= 32÷074÷75, kbMl;lgo/ KnDa/   txM 4  

 k|flalws ;]jf, l;len ;d'x   kb ;+Vof 3 

of]Uotfqmd pDd]baf/sf] gfd y/  k|FKtf° 

1= >L /d]z axfb'/ clwsf/L  

2= >L lbn axfb'/ tfdfé  

3= >L /)f axfb'/ P]/L 81.83 

 

 

 

;b:o ;lra 

       kbk"lt{ ;ldlt 

 

 

 

 

of]Uotfqmd pDd]baf/sf] gfd y/  k|FKtf° 

1= >L dfof (sfn g]kfn   

2= >L s]bf/ k|;fb d}gfnL  

3= >L ef]h/fh e§  

4= >L uf]kfn k|;fb lg/f}nf  

5= >L /fh]z s'df/ ;'a]bL 78.07 

of]Uotfqmd pDd]baf/sf] gfd y/  k|FKtf° 

1= >L dx]Gb|sfhL dxh{g   

2= >L lr/lGhaL k'*f;}gL  

3= >L lg/Ghg cfrfo{  

4= >L ;'dg yfkf 80.33 


